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ASSAMESE

( Major)

Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicatefull marks
for the questions

(^)' ^ ?

{^) I" ^

(5t) "Rj^vih
Ot^vSsIT'3?^ l" 1% ^ -^ ?

(^) ^ - (X) w
cwi ?

(ts) IPA-^ ^"=2.^ ^ ^ ?
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("5) Course in General Linguistics (1915)

S^fC^l" wf

*Rd6R 1% ^ ?

^1 ^ "Slf^ 2fiiH f»r^ : •^x8=b-

(^) <ii^<)qR ^Ric=i ^ ?

(^) ^ ^ (?nc5i ?

(9j) *1^ '5('J1T3^ -Jpicol ?

(^) C^TRJ W C^ ?

((S) 2CT^%n5T "5^
I

(•6) 1% m-lRi)K^ ^ C^M m ?

S9 1 ^551^ ft C^PlCil R>Pi5H R*1U "5^ CW^l Rl'll ; 5x\!)=i(j

(^) «l<JlR'es|r< ^Sfl^ V»|<1|\©'̂

('«r) *rR ^

(^)

(^) «t<l|\5 ^*fPT^

(a) ^WlR^aw
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8 I (^) iRpR-eflM -^Picsi f% ?
<rRR'03h^ Srf^ "5^ 'iRs?! ^tTR 1

^+^+'^9=>0

WW

('«f) 2n^f^ R'33h -^Picoi R sn^f^ Rwr
^5nt=w Rwf^ Rri I

«+'=l=io

4 I (^) «i<]|R«3m -Jpicai 1R ^ ? «miR^H<f>
R^h ^itRc=t ? ^*Jt^ tR "R
£f^ R^m (natural science)

Roh I \5+H=io

(''() ^^«i<}|R'Q3m -^7 2IC?n^%P5T

tm w I «+H=io

^ I (^) *Pfl5f ^ (semantics) .^Ptcoi 1% "^7 *1^
<iR^i^ Riw

'®ll(.oilo«^| I 8+^=bo

vjy^

(^) (syntax) ^Pic»i R "^7
c^^iTST, «ii<pK^i

'=HI(.'=nit?'11 I S+'is=>o

ir ie
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